Question No. 3
If a man swims north with a speed Vi, = 2 mv's across a river with water current
of Vu =2 my/s west, the resultant velocity of the man is:

o~

' 2 mvs_north-east
) 283 mvs. north-west
' 2 m/s north-west
' 283 ms. norh-east
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Question No. 14

The set that is all SI base quantities of the following is:

O temperature, electric current, time
O time, mass, force

O electric current, force, Ien&n

O length, temperature, speed



Question No. 9

The density of concrete can be as high as 4000 kg/m’. This density is equivalent to:

- 4 g/emy’
04 g/em®
400 g/'cm’
40 g/cmy’



Question No. 20

The thickness of a 500-page book 15 about 1 nch The thickness of a single sheet of this Dook can be estimated as

100 pm
1 pym

* O01Tum
10 ym



" Question No. 4
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- “Accuracy” of an instrument is:

O dependent only on the scattered values.

© independent of the true value.

O the closeness of measurements to the true value.
() the closeness of measurements to each other




Question No. 15

A foece of magn ade 15 N N3s 2 HONTontal component of magntude of I N TNW‘UOCMl!SVem‘,Alccm:rJnem;s
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Question No. 6

The number ot significant figures in the numbers A= 1400 and B = 1.40 = 10 -*
are respectively:

2and 5
'2 and 3
4and 5
4 and 3



Question No. 13 ~

A distance 15 measured 10 be precisely 200 km The number of Significant figures and the uncenainty in this measurement are respecively

~ 1anc 10 km
T 3and 10 km
~ 1anc1km

~ 3and 1km



Question No. 1b

If a man swims north with a speed V, = 2 m/s across a river with water current

of V=2 m/s west, the resultant velocity of the man is:

(O 2.83 m/s, north-west
O 2 m/s, north-west
O 2.83 m/s, north-east
) 2 m/s, north-east
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Adistance is meastirad in he reecicaiy 200 km The number of significant figures and the uncertainty in this measurement are respectively:

O 1and1km
© 1and 10km
© 3and 10 km
O aand 1km
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Ol questiony i asiim 20 | Answereel 1

Question No, 2

10 a oy swims nocthowith a speed Vo < 2 05 acrons A niver with water current

of Vo= 2oeswedt the eesubtant velooty of the man 15°

2 Vs north-woest
J 83 mds, notth gt
JHY mus, north-wasl

S Mm/s north-aast




Question tio. 14

Y“l' dimen'. on ()f (dareaq » \DG{‘O xmass)is

LT M]
(LT M)
(LT M]

(1P T L]
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measured 10 be precmedy 200 km mwawnmun«maum




Question No. 8
The thickness of a 1000-page book is about 2 inches. The thickness of a single sheet of this book can be estimated as:

O 1um

© 100 pm

O 10 pm B
O 0.1pm



Question to. 8

According 1 the SI system of units, the (length, mass, time) are measured in

(meter. :logram. second)
(foot, pcund. second)
(foot. kil \gram. second)

(meter ound second)



Question No. 3

The thickness of a 500-page book is about 1 inch. The thickness of

~ 0.1 um
21 pm

10 gm
100 pm



Question tio. 10

Anormal 1o ge of high density ipoprotein (HDL) cholesterol level 1s between (0 410 06) g/ This 1s equivalent 1o

041010 6)ymyal
(A0 6 )y maal
406) wal

(400 10+ 00) mardl



Question No. .

If a man swims north with a speed V,
of Vi =2 m/s west, the resultant velg

O 2.83 s, north-west
O 2.83 mis, north-east
O 2mus, north-east
O 2nys, north-west



ACisiance s measared 0 02 1 ZZ2 m The percent uncertainty in this measurement 1S



Queston No. 2
A Qistance s measured 10 be precsely 200 km The number of SHNMCAN HQUIEs and INe UNCENAINTY IN e MEASUEMENt e ESoECIy

' 1 and 10 km
Janc 1 km
3 and 10 km
1 ang 1 km



